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Worksheet 9 Solutions

1. Sketch the graph of f' by using the graph of f.
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2. Sketch a graph of f by using the graph of ' .
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3) ) Far gix)= X7 o s h(x) = 2iaX + 17  Sthamn
09 = 9(nex) = g (snxe19) = (woaxs17) 7
b) Fe g0x) = 14X al h(x)= X7+ Kom X Hham
Fx)= gh®) = 3Tk Famx) = 1+ X+ Famx
) dot 9x): T coax e hix)=wosex  than

i) = 9(heq) = 9(warex) = L con (moanex)
4) a) da glx) = 7x3- 4 ) h(x):5'x1+ozj ed S(X) = 3A4|
Ao 8= 9(W5®)) = 9 (h(Gari))
- 3<5(3x+;)1+ ,;Q - 7(5’[3x+1)*+°z)3— <
b) daX 9(x)z Aemx  hG)= VX ek 5COz xTex-7 Ahem
F(x) - j(lnb(x))) = j(h(x?+ x—7)>
= 9(xTx-7) = Ko xFx-7
c) Jak  g(x) = X(o) hix)= X+ m;‘(xﬂ)) o
s&)= X7 HFhan  £(x)= 9(h(50x)))
= 3(h () = 3(xT+ Kam* (x7+ 1))
= (T4 kan® (X7 1)) >

5) (a,a®) ﬁ\/ (4,3) Fo x>0 e ax
] B A A/Qvf—{/ (//, W
(4 Rva ok (a,42) 4




Aa = > Fa-2a* = 3-a* =
- a
g+ ~Jed — (2
o= c\l-—Yq—#—E = a — =

Y= @x) et + (3) Ao x

b) Y= et )T . 2(3x)- 3

¢) Y'= 2 e (3X) - pec?(3x)- 3

d) 'z 2 hem (3x) - anc?(3x)- 3

&) Y)= in(2x) - (0) + A coa(2X) - coa ()
+) 902 3 cea?(mx) e (wn) -

9) ¥'= (et (3x) - "oM(3%) - 3

h) 9')= VX - seex famX £ X 5L see x

i) ~¥((X): Cod VX - _le



J) gl (14 wax): corn X~ g X - (= 4 X)

(14 eoaX) >
k) vl= "70(X+(‘?X—()q)61 {14( chx ‘)3' q }
2) y'= l(qu) ,(um) . UM)*‘/.-L

) o= o2 ) )= x (1)
K (x+7)*

X+

) $e) = O D 3006 - (-x)% tx-T)

(x-7)

o) g'(x)=o |

7.) Y(x) = L(x-«)-s(uxf\t X-5(x-1)"@ex)+ x(x-;)‘.fg(“,()l
= o) (aex) )+ sx (240%) + 3¢ (1) G
| = (x-1)(a+x)" {?x +9><«JL} .,
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F(x)= x-ax® ‘ “
g> *) “ / b) Fi o2 x

\K :“éx_j m - ii’/ = 2 :
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F&)= IxF-dx = 2 = 3xPodax -
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= 75 (6F+22106) = 2 (1ue W)= 3% - e,
,,AWM;@ {“" —%‘5&7’“3)~ 5’~<"’ 2;@ ;
: _ 2-Alo
/-j X z “‘—“3 -~ Hhoean Y- (‘;&*m 3— o’L(&}m -

- 5 b (8- 22ﬁ7)~ ——(4 qﬁZj 5‘;+- (o 2o
ML«L,&Q Sﬁ (;(7 9\'){‘:) ;2 be ;ﬁa 2




